Homework 4
1.) The market for wheat consists of 500 identical firms, each with the total cost given by TC= 90,000 + .00001Q2 where Q is measured in bushels per year.  The market demand curve for wheat is Q = 90,000,000 – 20,000,000P, where P is the price per bushel.

a. Determine the short-run equilibrium price and quantity that would exist in the market.  Show this using a diagram of the market.











b. Calculate the profit maximizing quantity for the individual firm.  Calculate the firm’s short-run profit (loss) at that quantity.  Show this using a diagram of the firm.












c. Assume that the short-run profit or loss is representative of the current long-run prospects in this market.  You may further assume that there are no barriers to entry or exit in the market.  Describe the expected long-run response to the conditions described in part b.  (Assume the TC function captures all implicit and explicit costs of production.

2.) The demand curve and long-run supply curve for carpet cleaning in the local market are:

Qd = 1000 – 10P and Qs = 640 + 2P.

The long run cost function for a carpet cleaning business is:

C(q) = 3q2 .

If the carpet cleaning business is competitive, calculate the optimal output for each firm.  How many firms are in the local market?  Is the carpet cleaning industry an increasing, constant or decreasing cost industry?




3.) Should people have the right to buy and sell body parts?  There is considerable excess demand for kidneys in the United States by people who need transplants.  How might we encourage greater “trade” in these organs?
a) Suppose that in 2025 there are no restrictions on the supply of kidneys.  The demand for human kidneys is estimated to be Qd = 32000 - .4P, where Qd is quantity of kidneys per year and P is price in dollars.    Under these circumstances, the supply is estimated to be Qs = 16,000 + .4P.  Calculate the market equilibrium price and quantity.  How can you explain the welfare results of this policy?  








b) Suppose instead that there is a ban on the sale of human kidneys.  Under these circumstances there are 16,000 kidneys donated.  What happens to this market?  How can you explain the allocation of resources?  What welfare changes result from this policy?   Would you recommend it?  Explain.



